Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER -V * EXAMINATION -~ SUMMER-2017

Subject Code: 3350606 Date: 11-05-2017
Subject Name: HIGHWAY ENGINEERING
Time: 2.30PM TO 5.00PM Total Marks: 70

Instructions:
1.  Attempt all questions.
Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.
Use of programmable calculator & Communication aids are strictly prohibited.
English version is authentic.
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Q1 Answer any seven out of ten. €Il SlEURL Alclell scllol AL,
Give the full forms of NH, SH, MDR & ODR.

NH, SH, MDR el ODR =il Y@l oita L.

Enlist the drawings prepared for finalizing the road alignment.

As U8 olssl sl cud daur scllell Qéous(l aEl .
Explain building line and control line.

(Aot vl A 21 vl AHRLAL

Define camber and super elevation.

51012 Aol YuAdlAaetoll cautvaul wl.

List the different tests required for aggregates.

AWofldled M2 331 uilawlsll ael 2.

Draw any four warning signs.

S8 ULl UR Ao(lot ALt €12,

Draw a tabular form of traffic volume study.

2l4ls Alcyu @Sl Hike] slAe €RA.

What do you mean by grade of bitumen ? Which test is required for deciding
grade of bitumen ?

olglotall Qs Aed g ? ollglatall As otssl sal U2 s 22 %33
e ?

9. Enlist the use of road shoulders.

¢, As Aesweil GuAdNedl el ol

10.  Write the objectives of providing road camber.
0. RS FMR AUcloll Sl AU,

W G N o £ U X A WwouN LR

o

Q.2 (@ Explain PIEV.
Ys.2 () PIEV dH»al.

OR
(@ Draw various shapes of camber.

) 30Ral QLAY wusR €.
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Derive for stopping sight distance, SSD = v t + (v3/2gf).
RUUloL e vlcdr M2 SSD = vt + (v2/2gf) AUl s3.

OR
Find stopping sight distance for design speed 80 KMPH. Take reaction time
of driver 2.5 sec and friction coefficient 0.35.

80 KMPH Slastgset 2Uls 12 R\lot e vidRedl ool s2U.

slecRell AUt YHA 2.5 A50S el Y¥ells 0.35 Al
Define transition curve. List the advantages of it.
gloflatet sdofl cautvaal . Aell slaLelllell 2uEl slotlal.

OR
Calculate the Super elevation from the following data. Design speed = 120
km/hr , radius of the curve =200 m, f=0.15

(LAl HUEA w2l vual Galetoll awall s

Slatesat AUls =120 (5 Hl/scs, asell B =200 m, £=0.15
Explain types of vertical curves with neat sketch.
Grd anisell Usl a2 wsld €131 Auestal.

OR
Explain types of gradients.

3loell Ysl? uHxal.

Explain the factors for selection of road pavement.
AS UcHoeoll UsIR UAE SRcllotl Hal AHLA.

OR
Explain aggregate impact test.

Aofldle Brlse 2 UMl
Give the difference between Asphalt and Tar.
RS2 ol 2R ARl dslalcd AL,

OR
Explain softening point test for bitumen.
oflgHlot 12 Agollol We 22 AHest Al

Explain methods of construction of concrete slab for road.

As U slsle WA aliusidell Adl uxendl.
OR
Give the difference between flexible and rigid pavements.

cl12l ua €& SRUUL| A cAglald wUWL.

List the equipment used for excavation and draw a neat sketch of any one
showing various parts of it.

wlesH Hizell Altlolloll 1€l ototlcll 9N A Aol dltHallE st cuoll

ulsld R

OR
List the points to be taken in consideration while selecting excavating
equipment.
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WlESIH HISall Ultlotoll URleO(l ML aulotil Acltatl Yardloll alEl
AU

Give the difference between sheep foot roller and pneumatic roller.
ol g2 AR Aol RYNELS AAR A ctglelcd UL

OR
Write the advantages of a paver.

Qaloll SLAEL AL,
List the methods of surface drainage and explain any one.

AU URell Jaosoll IlAlol 2uel oloticll 818 As UM,

OR
Explain PCU and the factors affecting it.

PCU ol Aal AU 5l UR O AH1A.

List the methods of Origin and Destination study and explain any two of
them.

Ge alcl Aa ilAH et @ Slell AAlell auel 2l S8 ugl A
Ul

Explain factors affecting alignment of hilly roads.

uddla ectloll ABAERlA MARSAL URHOU UM
Explain protective works for hill roads.

uddla Rclloll eUeHs sl Auesal.

Explain causes of failure of flexible pavement.

st1l $UGL| declloll $100 UMl

Explain mud pumping.

us widlol A Al
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